Monitoring JavaMelody on _ip-10-0-4-216.ec2.internal
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SELECT SUM(CAST(d.data ->'nfe’->'infNFe'->'cobr'->'fat'->>'vliq" AS NUMERIC)) AS total_valor_liquido, SUM(CAST(d.data ->'nfe'-
>'infNFe'->'cobr'->'fat'->>'vdesc' AS NUMERIC)) AS total_valor_desconto, SUM(CAST(d.data ->'nfe'->'infNFe'->'cobr'->'fat'->>'vorig' AS

NUMERIC)) AS total_valor_origem, SUM(CAST(d.data ->'nfe’->'infNFe’->'total'->'icmsTot'->>'vnf' AS NUMERIC)) AS total_vnf,

SUM(CAST(d.data ->'nfe'->'infNFe’->'total'->'icmsTot'->>'vbc’ AS NUMERIC)) AS total_vbc, SUM(CAST(d.data ->'nfe’->'infNFe'->'total'-
>'icmsTot'->>'vbest' AS NUMERIC)) AS total_vbest, SUM(CAST(d.data ->'nfe’->infNFe’->"total'->'icmsTot'->>'vst' AS NUMERIC)) AS
total_vst, SUM(CAST(d.data ->'nfe’->'infNFe'->'total'->'icmsTot'->>'vprod' AS NUMERIC)) AS total_vprod, SUM(CAST(d.data ->'nfe'-
>'infNFe’->'total'->'icmsTot'->>'vipi' AS NUMERIC)) AS total_vipi, SUM(CAST(d.data ->'nfe’->'infNFe'->'total'->'icmsTot'->>'vpis' AS

NUMERIC)) AS total_vpis, SUM(CAST(d.data ->'nfe’->infNFe’->"total'->'icmsTot->>'vcofins’ AS NUMERIC)) AS total_vcofins,

SUM(CAST(d.data ->'nfe'->'infNFe'->'total'->'icmsTot'->>'voutro' AS NUMERIC)) AS total_voutro, SUM(CAST(d.data ->'nfe’->'infNFe'->"total'-
>'icmsTot'->>'vicms' AS NUMERIC)) AS total_vicms, SUM(CAST(d.data ->'nfe’->'infNFe'->"total'->'icmsTot'->>'vfrete’ AS NUMERIC)) AS
ON d.key = ds.key and d.cnpj_issuer = ds.cnpj_issuer and

total_frete FROM document d INNER JOIN document_status ds

d.protocol = ds.protocol and d.nsu = ds.nsu and d.type = ds.type  WHERE SUBSTRING(d.cnpj_addressee, 1, 8) = ? and
d.type IN (2, 2, ?) and d.key in (2, ?, 2, 2,2,2,2,2,2,2,2,2,2,272°272°272°2727272? 2,
2,2,2,2,22222227272°7? 2,2, ? 2,2, ?
2,2, 2,2,2,2,2,7 2,2, 2,2, ?
2,2, 2,2,2,2,27 2,2, . 2,7 2,2, ?
2,2,2,2,2,222727 2,2,2,2,2,2,2,2,272 2,2,2,2,.2,22, 2,2,?
2,2,2,2,2,222727 02,2,2,2,2,2,2,? 2,2,2,2,2,22, 2,22,
2,2,2,2,2,2,2,2,2,7 2,2,2,2,2,2,2,?, 2,2,2,2,2,2,2, 2,2,2,
2,2,2,2,2,2,2,2,2,7 0 2,2,2,2,2,2,2,? 2,2,2,2,2,2, 2, ,2,2,?,
2,2,2,2,2,2,2,2,2,7 0 2,2,2,2,2,2,2,2, 2,2,2,2,2,2, 2, ,2,2,2,
2,2,2,2,2,22227 02,2,2,2,2,2,2,? 2,2,2,2,2,22, 2,2, 2,
2,2,2,2,2,2,2,2,2,7 ,2,2,2,2,2,2,2,? 2,2,2,2,2,2,2, 2,2, 2,
2,2,2,2,22272727 2,2,2,2,2,27272 2,2,2,2,.2272 2,2,?,
2,2,2,2,2,2,2,2,2,7 0 2,2,2,2,2,2,2,2, 2,2,2,2,2,2, 2, ,2,2,2,
2,2,2,2,2,2,2,2,2,7 2,2,2,2,2,2,2,2, 2,2,2,2,2,2, 2, 2,22,
2,2,2,2,2,2,2,2,2,2,2,7 . 2,2,2,2,2,2,2, 2, 2,2,2,2,2,2,2, 2,2, 2,
2,2,2,2,2,222°272°72 2,2,2,2,2,272727? 2, 2,2,2,?, 2,2,?,
2,2,2,2, 2, 2,22 2,2,2,2,2, 7 2, 2,2,2, 2, ,2,2,2,
2,2,2,2, 2, 2,2,2,2,2,2,2,2, 2, 2,22, 2,22,
2,2,2,2, 2, 2,2,2,2,2,2,2,2, 2, 2, 2,2,?
2, 2, 2, 2,22, 2,22, 2, 2, 2,2,?
2, 2, 2, 2,22, 2,22, 2, 2, 2,2,?
2,2, 2,2, 2,2 2,2,2,2,2,2,2,2, 2, 2,2 2,2,?
2,2,2,2,2,2, 2,2, 2,2,2,2,2,2,2,2, 2,2, 2,2, 2,2,2,
2,2, 2,2, 2,2 2,22, 2,22, 2,2,7 2,2 2,
2,2, 2,2, 2,2 2,22, 2,22, 2,2,2,2,2,2, 2, ,2,
2,2,2,2,2,2,2,2,2,2,2,2,2, 2,2,2,2,2,2,2,2,2,2 2,2,2,2,2,2, 2, 2,
2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2, 2, 2,
2,0 2,2,7,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2, 2,
2,2, 2% %722, 222,27, 2,2,2,2,.2,2,2,2,2,2,2,2,2,2,2,.2,2,2,2,2,2,2,2,2,2, 2,
2,222,222, 222,222,2,2222.22,22,22,22222,2222,22,2222,222222222,22,272,
2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2, 2, 2,
2 0 2,2,7,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2, 2,
2,2, 2222222 02,2,%2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,.2,2,2,2,2,2,2,2,2,2,2,.2,2,2,2,2,2,2,2,2,2, 2,
2,222,222, 222,222,2,2222.22,22,22,22222,2222,22,2222,222222222,22,272,
2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2, 2, 2,
202, 2,0,2,2,2,7,2,2,2,2,2,2,2,2,2,2,2,2,2, 2,
2,2,2,2,2,°?

?,?2,?2,2,2,2.2,2,?,?,?, ?) and d.data_emissao between ? and ?
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